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1. 28 SZ3ge4E7} 26,227,727 19,259,545 6,968,182
2. 2718 MSiHEIt 48,708,637 35,767,727 12,940,910
3274 74,936,364 55,027,272 19,909,092
3.2 771X M| 7,493,636 5,502,728 1,990,908
E 8 9 4| 82,430,000 60,530,000 21,900,000
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3 £ — o 9 o
A |22 (&) HH 33]1%

RS S T e ] 7,653,296 5,707,749
S0 X 5.59 418 281,833| 1,575,446 1,175,243
ERAERN 9.07 6.78 224,061 2,032,233 1,514,652
ERAERN 12.88 9.60 207,080  2,667,190| 1,990,038
=7 & X 8.61 6.41 160,096| 1,378,427 1,027,816
3 3 4 6,974,875| 4,879,000
 SHEEEE]| 1 4,879,000| 4,879,000
Lo & H 1 2,095,875 0
3 Hi g el 8,418,624| 6,278,523
= B X H Q1 74d )*20% 3,180,932| 2,394,273
ra = 26,227,727 19,259,545
F 7L X M 2,622,773 1,925,955
5 & 9 Hi 28,850,500 21,185,500
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89 52 FxMH & 49
33 = ° =7
CHot =N

ol Ay 5,707,749

1. ALl 7| 42,988
Eg7=s*X 0.00 ol 281,833 0
iE= A, 0.07 ol 224,061 15,684
sa’/l=si 0.07 ol 207,080 14,496
za’/ls i 0.08 ol 160,096 12,808

2. X9 142,183
S870sX 0.00 ol 281,833 0
p1g7=x 0.14 ol 224,061 31,369
sa7=x 0.28 ol 207,080 57,982
za7=x 0.33 ol 160,096 52,832
Atel X|9H He 38,635
827X 0.03 ol 281,833 8,455
nip= i, 0.07 ol 224,061 15,684
sa’/=sx 0.07 ol 207,080 14,496
Za7=sX 0.00 ol 160,096 0
XY FH XG0 tfet EX[0]8 g 57,675
SEa87=sX 0.00 ol 281,833 0
p1g7l=s X 0.07 ol 224,061 15,684
sa’/=sX 0.11 ol 207,080 22,779
Za7=sX 0.12 ol 160,096 19,212
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CHIt = CHIt =4 TH7t =

100,883
0.07 ol 281,833 19,728
0.10 ol 224,061 22,406
0.16 ol 207,080 33,133
0.16 ol 160,096 25,615
4 BRot 5,241,238
545,009
72,533
0.03 ol 281,833 8,455
0.07 ol 224,061 15,684
0.11 ol 207,080 22,779
0.16 ol 160,096 25,615
353,963
0.07 ol 281,833 19,728
0.29 ol 224,061 64,978
0.79 ol 207,080 163,593
0.66 ol 160,096 105,663
0
0.00 ol 281,833 0
0.00 ol 224,061 0
0.00 ol 207,080 0
0.00 ol 160,096 0
118,513
0.03 ol 281,833 8,455




BN =z = 2|
33 g | =¥ | o
CHot =4 CHot =Y THt =N

2a7= R 0.10 ol 224,061 22,406
sa’/l=i 0.23 ol 207,080 47,628
e/l i 0.25 ol 160,096 40,024

Lt =2t8 20} 738,218
M T=EXIE - XSh(+EEEY| 0.00 603,524
Evg7=*X 0.57 ol 281,833 160,645
ip= -\, 0.69 ol 224,061 154,602
sa’/l=si 0.82 ol 207,080 169,806
za’/l=s i 0.74 ol 160,096 118,471

@) =2 - += 134,695
Eg7=s*X 0.07 ol 281,833 19,728
a1a7= i 0.14 ol 224,061 31,369
sa7=x 0.28 ol 207,080 57,982
za7=x 0.16 ol 160,096 25,615

Ch EX|2tE 20¢F 345,698
(1) EX[0|& 82,887
SE827=x 0.03 ol 281,833 8,455
p1g7 =i 0.07 ol 224,061 15,684
sa7=x 0.16 ol 207,080 33,133
Za7sx 0.16 ol 160,096 25,615
QE 76,484
SEa27sX 0.03 ol 281,833 8,455
p1g7ls X 0.07 ol 224,061 15,684
sa’/=sx 0.16 ol 207,080 33,133
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3) X - X Z 186,327
Ev87=s*X 0.07 ol 281,833 19,728
a2a7= i 0.22 ol 224,061 49,293
sa’/l=si 0.35 ol 207,080 72,478
g7 = *x 028 | ¢ 160,096 44,827
2f. AFAYE 2t E 20f 3,090,067
s Ay 3,045,028
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(2) RpAZHA XA 45,039
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4 88 154,280
S87=F% 0.03 ol 281,833 8,455
= 0.25 2l 224,061 56,015
= 0.31 2l 207,080 64,195
= 0.16 ol 160,096 25,615
G)HY - STE 0
E = 0.00 ol 281,833 0
i = 0.00 ol 224,061 0
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g/l X 0.11 ol 160,096 17,611
2. X 97K 189,633
Sa70si 0.00 2l 281,833 0
d1g7 =" 0.19 2l 224,061 42,572
sa7=*x 0.37 2l 207,080 76,620
za7=*x 0.44 ol 160,096 70,442
At o X|HH He 52,147
Sa27=x 0.04 ol 281,833 11,273
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2= = cro) BN Oy
(TH) = = cHot = =

2 a7 = A 0.14 2l 224,061 31,369
sa’/l=si 0.31 2l 207,080 64,195
e/l 0.33 2l 160,096 52,832

L. +=2t8 =0t 989,208
(1) T=EXIE - A[Sh(+2E95Y =) 809,431
Eg7= X 0.77 2l 281,833 217,011
nip= A, 0.92 2l 224,061 206,136
s/l 1.10 2l 207,080 227,788
za7=*x 0.99 2l 160,096 158,495

Q) =2l - =& 179,777
Sg70sX 0.09 2l 281,833 25,365
p1a7 =i 0.19 2l 224,061 42,572
sa7=x 0.37 2l 207,080 76,620
za7=x 0.22 ol 160,096 35,221

Ch EX|2tE 20F 459,194
(1) EX[0|& 110,147
SEa27=x 0.04 ol 281,833 11,273
p1g7 =i 0.09 ol 224,061 20,165
sa7=i 0.21 ol 207,080 43,487

E = 0.22 ol 160,096 35,221
QE ¥ 100,541
SE87=sX 0.04 ol 281,833 11,273
p1g7s X 0.09 ol 224,061 20,165
sa’/=sx 0.21 ol 207,080 43,487




o= =& BN E]
o () 2 2 Eo} 2 2

e =M 0.16 160,096 25,615

B) X - X & 248,507
Eg7=*x 0.09 2l 281,833 25,365

2 a7 = A 0.29 2l 224,061 64,978
s/l 0.47 2l 207,080 97,328
za’l= A 0.38 2l 160,096 60,836

2f. At MEl 2t ZOF 4,140,553
Ms-AM=d 4,080,402
Sg70sX 3.81 2l 281,833 1,073,784
p1g7 =k 5.28 2l 224,061| 1,183,042
sa7=x 6.51 2l 207,080| 1,348,091
za7=x 2.97 2l 160,096 475,485

(CARN R RPN iy 60,152
SE27=x 0.04 ol 281,833 11,273
p1a7 =i 0.09 ol 224,061 20,165
sa7=x 0.10 2l 207,080 20,708
za7=x 0.05 ol 160,096 8,005

of. detstd 20of 701,337
(1) detE8H KAz 191,301
S87=x 0.04 ol 281,833 11,273
p1g7 =i 0.19 ol 224,061 42,572
sa7=i 0.37 ol 207,080 76,620
E= 0.38 ol 160,096 60,836

@ 25 -Ts 300,387
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33 =2 | T = =7
=4 =Y THt =N

2a7= R 0.04 ol 224,061 8,962
ER=I N, 0.08 ol 207,080 16,566
za’/l=s X 0.08 ol 160,096 12,808

Lt +=2td =0t 250,990
(1) =E & & - X[Sh)(= 0.00 205,907
Evg7=*X 0.20 ol 281,833 56,367
a1a7= i 0.23 ol 224,061 51,534
= A 0.28 ol 207,080 57,982
g/l i 0.25 ol 160,096 40,024

@) el - = 45,083
Evg7=skX 0.02 ol 281,833 5,637
a2a7= i 0.05 ol 224,061 11,203
sa7=i 0.09 ol 207,080 18,637
Za7ls X 0.06 ol 160,096 9,606

Ch EX|2tE 20F 113,497
(1) EX|0|& 27,259
SEa27=sX 0.01 ol 281,833 2,818
p1g7l=s X 0.02 ol 224,061 4,481
sa’/=sx 0.05 ol 207,080 10,354
Za7=sX 0.06 ol 160,096 9,606
@QE ¢ 24,057
SEa27=sX 0.01 ol 281,833 2,818
p1g7s X 0.02 ol 224,061 4,481
sa’/=sX 0.05 ol 207,080 10,354
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33 =2 | e = =t =7
CHIt = CHIt =4 TH7t =
sE87= 0.06 ol 281,833 16,910
1a7s 0.07 2l 224,061 15,684
sa’= 0.12 ol 207,080 24,850
za’/l= 0.11 ol 160,096 17,611
(3) ?I& 0
Sa7/= 0.00 2l 281,833 0
= 0.00 2l 224,061 0
=i 0.00 ol 207,080 0
= 0.00 ol 160,096 0
4) g 55,368
S87=F% 0.01 ol 281,833 2,818
= 0.09 2l 224,061 20,165
s/ 0.11 ol 207,080 22,779
E= 0.06 ol 160,096 9,606
(5) 4 SH 0
= = 0.00 ol 281,833 0
inl & 0.00 ol 224,061 0
£ = 0.00 ol 207,080 0
= & 0.00 ol 160,096 0
(6) MI 0
= = 0.00 ol 281,833 0
inl & 0.00 ol 224,061 0
£ = 0.00 2l 207,080 0
= & 0.00 ol 160,096 0
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22X E

ok

ZHEHEALY) HEAM

g
T8 Te Thel T IKE) = @ H| 2
MM 22(1%h TH| =2l(1%h
ESE FZM Mg SEEY 53,579,500 39,344,500
I.%H dy| 18,674,062 14,193,543
1. A 2 23 1 1 4 82,430 82,430 82,430
2. Atdel 7 106,570 106,570
7h Ar B Z o B 1 1 A 15,280 15,280 15,280
Lb AM LHE 1 1 A 65,210 65,210 65,210
Ch ALY FXIZH 2 1 1 A 13,040 13,040 13,040
b RHSH S S E I MAl 2H 2 =Xt 1 1 A 13,040 13,040 13,040
3. 7| X§E AL 3,025,780 3,025,780
P P ES - NI 1 1 A 384,750 384,750 384,750
s e e L 1 1 4 534,920 534,920 534,920
Ch =254 ZA 1 14 570,310 570,310 570,310
2t B, K& 9 X|Ht S mAL 1 14 496,790 496,790 496,790
O, XHH'2L A oigh AL 1 14 462,350 462,350 462,350
HE. RS2 K| 7RI sigh ZAb 1 14 117,730 117,730 117,730
AL STHAIME S RAL 1 1 A 234,240 234,240 234,240
Of, ZHEA|Z ZA} 1 14 224,690 224,690 224,690
4. XSS eE7F ci x| 273 273,270 273,270
7h HIFOIMXIY Y Y 1 1 A 23,840 23,840 23,840
Lb AMY RS TIt CIMX|IY M 1 1 4 249,430 249,430 249,430




2m T3 chel B ha) 3 A&

A 331 HH 23/(1%h
5. ML o5 A Bt 9,070,590 9,070,590
7t WAy rEed 48 A EAEE 2 1 1 4 148,990 148,990 148,990
Lt 8R4 8.5 8.5 km 689,600 5,861,600 5,861,600
Ct EALRE oM 8.5 8.5 km 170,900 1,452,650 1,452,650
2t S BAA| B X2t Dol = Bt 8.5 8.5 km 189,100 1,607,350 1,607,350
6. MaEE MU ~2 U xZhror v 4,755,990 1,634,903
b MACHY =3 W Mgge gt 7|2y 1 T4 148,990 148,990 148,990
Lh Mo =& 4,416,600 1,485,913
NNg S 8+ (L EA 8.5 8.5 km 173,600 1,475,600 1,475,600
ME = 8FRE X 8.5 0.1 km 173,600 1,475,600 10,313
)M S X[E2E HF 8.5 km 86,200 732,700 -
4) 71 = R|gh2E Mg 8.5 km 86,200 732,700 -
Ch Mo gty 8.5 km 22,400 190,400 -
7. x| A 810,240 :
N B fxE A 1 4 405,120 405,120 :
LY gREE|A 1 4 405,120 405,120 :
8. ZE 1 4 136,940 136,940 -
9. E7IM =4 1 4 412,150 412,150 -
Io. 23| 1,650,000 -
7t Q14{H] S A= 30 0 = 55,000 1,650,000 -




o

HI

=1
[ =]

(&)

2 A =2l(1%h
. HIBH] (AEAHH x H % 20,541,468 15,612,897
1R [(REQUAH| + H|ZAH]) x HEH[®) % 7,843,107 5,961,287
Sa7HY 48,708,637 35,767,727
. R A| % 4,870,863 3,576,773
RSO 53,579,500 39,344,500




22X BB 7N E A ) LHHAM

T & TE ok 9 T 7HE) = A& H| 1
HH 23|(1%h A

TEE FRNY Mo EIEY 53,579,500
I.Z%H Qdy| 18,674,062
1. ZAA 2 23 1 1 4 82,430 82,430
2. Aol 78 106,570
7h At Bt 2 1 1A 15,280 15,280
Lb AF LHE 1 1A 65,210 65,210
Ch AR FEXIZE 2 1 1A 13,040 13,040
cf. S E7 HA| 2H X EHAt 1 1 4 13,040 13,040
3. 7| =g AL 3,025,780
7 7| =" ZALS| T| 2yt 1 1 4 384,750 384,750
Lt R 9 HiAH S ZAL 1 1A 534,920 534,920
Ch =254 XA 1 1A 570,310 570,310
et B, A& A X|EH oiZ mAL 1 1 4 496,790 496,790
O, RS2 sigh AL 1 1A 462,350 462,350
HE ZHSH 23 X[ X o mAL 1 1 4 117,730 117,730
AL LTHAIE " AL 1 1 4 234,240 234,240
Of A 2l Z A} 1 1A 224,690 224,690
4. Mo YeH7 cidx| A7 273,270
7h "It MRS MY e 1 1A 23,840 23,840
Lt A Rdd BIFOidXY 473 1 1 o 249,430 249,430




2m T8 t 9] L) 3 A&
M S=2I(1%h A

5. X EEd o5 X Eot 9,070,590
7h Mo Rl o 1 1 4 148,990 148,990
Lt 8+RE0HA 8.5 8.5 km 689,600 5,861,600
Ch EALRE oA 8.5 85  km 170,900 1,452,650
2t S ZAMX] S x| Tl 8.5 85  km 189,100 1,607,350
6. Mol MZCh =7 U x{Zhdbot vk 4,755,990
7h MO =8 S Mo g 7|2 1 1 4 148,990 148,990
Lb, M2 =8 4,416,600
NHE 53+ LEA 8.5 85  km 173,600 1,475,600

2) /e = 8RE MUOHH 8.5 0.1 km 173,600 1,475,600

3) M & K|t X 2oy 8.5 km 86,200 732,700

4) 74 = X|dhgA Ko 8.5 km 86,200 732,700

C. A Zfgfor gty 8.5 km 22,400 190,400
7. fX|E2 A 810,240
7tooNg B |XjE2A 1 Y 405,120 405,120
Lt 7 = SX|2e A= 1 Y 405,120 405,120
8. AE 1 4 136,940 136,940
9. HItM =g 1 Y 412,150 412,150
RSk Pl 1,650,000
7F QlafH] 2 M 30 o = 55,000 1,650,000




o

HI

ra
4o

(-] A
. HZH] (B E X 20,541,468
1R [(AEUAY] + HFZH]) x HEH|E) 7,843,107
a7} 48,708,637
. BRI A 4,870,863

CE20EY

53,579,500




22X B E7HINEAL) LHHAM

T8 Te Thel T IKE) =& H| 2
MM 22(1%h TH| 2K}

ESE FZM Mg SEEY 53,579,500 14,235,000
I.%H dy| 18,674,062 4,480,519
1. A 2 23 1 1 4 82,430 82,430 -
2. Atdel 7 106,570 -
7h Ar B Z I B 1 1 A 15,280 15,280 -
Lb AF LHE 1 1A 65,210 65,210 -
Ch AMY FXIE S 1 1A 13,040 13,040 -
2f S E7E HAl 2 A R =X} 1 1 4 13,040 13,040 -
3. 7| X§E A 3,025,780 -
b 7| Evig AR 7| Rt 1 1A 384,750 384,750 -
Lt R 9 HiSH S AL 1 1A 534,920 534,920 -
Ch =254 ZA 1 1 4 570,310 570,310 -
gt EY, A& A X[EH oA EAL 1 1 4 496,790 496,790 -
O, XHH'2L A oigh AL 1 14 462,350 462,350 -
HE, T{SH2te XX 2" mAL 1 11 4 117,730 117,730 -
AL THAI A = AL 1 1 4 234,240 234,240 -
Of. ZHEAZE ZA} 1 1A 224,690 224,690 -
4. JHoH S eE7L ciex|g 273 273,270 -
7 Bot oA S 48 Y 1 1 4 23,840 23,840 -
Li At RS B2t ofaX|Y 4F 1 11 4 249,430 249,430 -




2m T3 chel B ha) 3 A&
A 331 A 2K}

TSP ol 9wt 9,070,590 :
7t ey rEed 48 A A8 E 2 1 1 4 148,990 148,990 -
Lt 8R4 8.5 8.5 km 689,600 5,861,600 -
Ch EARE oY 8.5 8.5 km 170,900 1,452,650 -
2h SEAIR 9L X|gHEHE Aol s ot 8.5 85  im 189,100 1,607,350 :
TSI YR M 3 % M Zor ue 4,755,990 3,121,087
Zh MY 7 2 M2 v 7|2y 1 14 148,990 148,990 :
Lh Mo =& 4,416,600 2,930,687
NAHE T 8+ A EMFE MNYUH 8.5 8.5 km 173,600 1,475,600 -
)M = E+RE MY 8.5 0.1 km 173,600 1,475,600 1,465,287
3) M S X[t MY 8.5 km 86,200 732,700 732,700
4) 7N = R|Eh2HE Mo 8.5 km 86,200 732,700 732,700
Ch Mot gty 8.5 km 22,400 190,400 190,400
L aX e A= 810,240 810,240
7toNe & RXAIEEAE 1 4 405,120 405,120 405,120
Lh 7R & RXI2E A= 1 4 405,120 405,120 405,120
a2E 1 4 136,940 136,940 136,940
EI7tM 2 1 4 412,150 412,150 412,150
. EHEHEH| 1,650,000 1,650,000

7t Q14{H| S A= 30 0 % 55,000 1,650,000




g2 TE Thel T IKE) = & Hl 1
M 22[(1%h TH| 2K}
m. MZH| (2HUHH x HEH|E) 110 % 20,541,468 4,928,571
Iv. 7|8 [(AEUAH] + HZH]) x HEH|8) 20 % 7,843,107 1,881,820
V. 3871 48,708,637 12,940,910
VL. 27F7HX| M| 10 % 4,870,863 1,294,090
VI. E20%dH 53,579,500 14,235,000
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